Thu, Sept 11, 2014 MATH 462, Quiz 2 Prof. V. Panferov
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Each problem is worth 2 points. Show all your work.

1. Let S = {uy,us,...,u,} be a finite set of vectors. Prove that S is linearly dependent if

and only if u; = 0 or ugy1 € span{uy, us, ..., ux} for some k € {1,...,n}.
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2. Give an example of three linearly dependent vectors in R? such that none of the three
is a multiple of another. Justify your answer.
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3. The set of solutions to the system of linear equations

1 — 29 +23=0

201 — 3z + 23 =0

is a subspace in R3. Find a basis for this subspace.
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